# The lower estimate for the linear combinations of Bernstein-Kantorovich operators ${ }^{\text {T}}$ 

Linsen Xie<br>Department of Mathematics, Lishui University, Zhejiang, Lishui 323000, PR China<br>Received 15 April 2008; accepted 16 December 2009<br>Available online 28 December 2009<br>Communicated by Kirill Kopotun


#### Abstract

In this paper we obtain a new strong type of Steckin inequality for the linear combinations of Bernstein-Kantorovich operators, which gives the optimal approximation rate. On the basis of this inequality, we further obtain the lower estimate for these operators.


(C) 2010 Published by Elsevier Inc.

Keywords: Bernstein-Kantorovich operator; Combination; Strong type of Steckin inequality; Modulus of smoothness

## 1. Introduction

Many mathematicians have investigated the approximation behavior of Bernstein-Kantorovich operators on $L^{p}[0,1], 1 \leq p \leq \infty$ with $L^{\infty}[0,1]=C[0,1]$, defined by

$$
K_{n}(f, x)=\sum_{k=0}^{n} p_{n, k}(x)(n+1) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(t) \mathrm{d} t, \quad p_{n, k}(x)=\binom{n}{k} x^{k}(1-x)^{n-k}
$$

However, they are found not to be applicable to approximating functions with higher approximation degree. Butzer (see [1]) introduced the linear combinations of these operators that

[^0]0021-9045/\$ - see front matter © 2010 Published by Elsevier Inc.
doi:10.1016/j.jat.2009.12.005
have higher approximation degree. To generalize Butzer's approach one introduces the following linear combinations (see [2, p. 116]):

$$
K_{n, r}(f, x)=\sum_{i=0}^{r-1} c_{i}(n) K_{n_{i}-1}(f, x)
$$

where $n_{i}$ and $c_{i}(n)$ satisfy
(a) $n=n_{0}<\cdots<n_{r-1} \leq K n$;
(b) $\sum_{i=0}^{r-1}\left|c_{i}(n)\right| \leq C$;
(c) $\sum_{i=0}^{r-1} c_{i}(n)=1$;
(d) $\sum_{i=0}^{r-1} c_{i}(n) n_{i}^{-\rho}=0, \quad \rho=1,2, \ldots, r-1$.

It was shown in [2] that for $1 \leq p<\infty$

$$
\begin{equation*}
\left\|K_{n, r}(f)-f\right\|_{p} \leq C\left(\omega_{\varphi}^{2 r}\left(f, n^{-1 / 2}\right)_{p}+n^{-r}\|f\|_{p}\right) \tag{1.1}
\end{equation*}
$$

and for $1 \leq p \leq \infty$ and $0<\alpha<2 r$

$$
\left\|K_{n, r}(f)-f\right\|_{p}=\mathcal{O}\left(n^{-\alpha / 2}\right) \Leftrightarrow \omega_{\varphi}^{2 r}(f, t)_{p}=\mathcal{O}\left(t^{\alpha}\right)
$$

where $\omega_{\varphi}^{2 r}(f, t)_{p}$ is the modulus of smoothness with the step-weight function $\varphi(x)=\sqrt{x(1-x)}$ and $\|f\|_{p}=\|f\|_{L_{p}[0,1]}$ (see [2, p. 117]).

In $[2,3,6,7,9]$ one may find some results concerning the approximation rate and the saturation for these operators with $r \geq 1$. However, the saturation problem for all $r \geq 1$ was first solved in [5]. Some notations are necessary to be mentioned. For $k=1,2, \ldots$ let

$$
\begin{equation*}
a_{j, k}=j a_{j, k-1}+(k-1) a_{j-1, k-2} \tag{1.2}
\end{equation*}
$$

with

$$
a_{0, k}=0, \quad a_{1, k}=1, \quad a_{k, 2 k}=(2 k-1)!!,
$$

where $1<j<[k / 2]$ if $k$ is even and $1<j \leq[k / 2]$ otherwise. The differential operators needed are given by

$$
\begin{aligned}
P_{r}(D)= & \frac{1}{(r+1)!} a_{1, r+1}(1-2 x)^{\delta_{r}} D^{r}+\sum_{j=1}^{r}\left(\frac{1}{(r+j)!} a_{j, r+j}\right. \\
& \left.+\frac{j+1}{(r+j+1)!} \delta_{j, r+j} a_{j+1, r+j+1}\right)(x(1-x))^{j}(1-2 x)^{\delta_{r+j}} D^{r+j}
\end{aligned}
$$

where $\delta_{j}=0$ if $j$ is even and $\delta_{j}=1$ otherwise, and $\delta_{j, r+j}=1$ for $1 \leq j \leq r-1$ and $\delta_{r, 2 r}=0$. We use these differential operators to define the $K$-functional, namely,

$$
K(f, r, t)_{p}=\inf _{g}\left\{\|f-g\|_{p}+t^{2 r}\left\|P_{r}(D) g\right\|_{p}+t^{2 r+1}\left\|\varphi^{2 r+1} g^{(2 r+1)}\right\|_{p}\right\},
$$

where, as usual, $\varphi(x)=\sqrt{x(1-x)}, g^{(2 r)} \in A . C \cdot{ }_{\text {loc }}$ and $1 \leq p \leq \infty$. Let further

$$
\begin{aligned}
\sigma(x)= & \frac{1}{(r+1)!} a_{1, r+1}+\sum_{j=1}^{r}\left(\frac{1}{(r+1)!} a_{j, r+j}+\frac{j+1}{(r+j+1)!} \delta_{j, r+j} a_{j+1, r+j+1}\right) \\
& \times x(x-1) \cdots(x-j+1) .
\end{aligned}
$$

We proved in [5] the following
Theorem 1.1. Let $1 \leq p \leq \infty$ and $r \geq 1$. If $-1 / p \notin\{\operatorname{Re} x: \sigma(x)=0\}$, then there holds for $f \in L^{p}[0,1]$

$$
\left\|K_{n, r}(f)-f\right\|_{p}=\mathcal{O}\left(n^{-r}\right) \Longleftrightarrow K(f, r, t)_{p}=\mathcal{O}\left(t^{2 r}\right)
$$

In [5] we studied also the problem that one can replace $K(f, r, t)_{p}=\mathcal{O}\left(t^{2 r}\right)$ by $\omega_{\varphi}^{2 r}(f, t)_{p}=$ $\mathcal{O}\left(t^{2 r}\right)$. We have (see [5]).

Theorem 1.2. Let $1 \leq p<\infty$ and $r \geq 1$. If $-1 / p \notin\{\operatorname{Re} x: \sigma(x)=0\}$, then there holds for $f \in L^{p}[0,1]$

$$
K(f, r, t)_{p}=\mathcal{O}\left(t^{2 r}\right) \Longleftrightarrow \omega_{\varphi}^{2 r}(f, t)_{p}=\mathcal{O}\left(t^{2 r}\right) .
$$

Furthermore, the restriction $1 \leq p<\infty$ in Theorem 1.2 cannot be replaced by $1 \leq p \leq \infty$. In fact, calculation shows that for $p=\infty$ and $f(x)=x \ln x$, one has $\omega_{\varphi}^{2}(f, t)_{\infty}=\mathcal{O}\left(t^{2}\right)$ but $K(f, 1, t)_{\infty} \neq \mathcal{O}\left(t^{2}\right)$.

Let $\Pi_{n}$ be a set of algebraic polynomials with degree $n$, and

$$
E_{n}(f)_{p}=\inf _{P \in \Pi_{n}}\|f-P\|_{p}
$$

In this paper we will prove a strong type of Steckin inequality for $K_{n, r}$, i.e.,
Theorem 1.3. For $1 \leq p \leq \infty$ and $r \geq 1$, there is a constant $C>0$ such that for $f \in L^{p}[0,1]$ and $n=1,2, \ldots$

$$
\begin{equation*}
\left\|K_{n, r}(f)-f\right\|_{p} \leq C\left(K\left(f, r, n^{-1 / 2}\right)_{p}+n^{-r} E_{r}(f)_{p}\right) \tag{1.3}
\end{equation*}
$$

and

$$
\begin{equation*}
K\left(f, r, n^{-1 / 2}\right)_{p} \leq C\left(n^{-r-1 / 2} \sum_{k=1}^{n} k^{r-1 / 2}\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) \tag{1.4}
\end{equation*}
$$

We know that the classic Steckin inequality for operators does not give an optimal approximation rate, while (1.3) and (1.4) imply the result of Theorem 1.1. The following result improves Theorem 1.2.

Theorem 1.4. Let $1 \leq p<\infty$ and $r \geq 1$. If $-1 / p \notin\{\operatorname{Re} x: \sigma(x)=0\}$, then there holds for $f \in L^{p}[0,1]$

$$
\max _{k \geq n}\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p} \asymp \omega_{\varphi}^{2 r}\left(f, n^{-1 / 2}\right)_{p}+n^{-r} E_{r}(f)_{p},
$$

where the symbol $X \asymp Y$ means that there exists a positive constant $M$ independent of $n$ and $f$ such that $M^{-1} Y \leq X \leq M Y$.

In Section 2, we will present some needed lemmas. The proofs of Theorems 1.3 and 1.4 will be given in Section 3. Throughout this paper, $C$ denotes a positive constant independent of $n$ and $x$, whose value may be different in different places.

## 2. Lemma

We will need the following lemmas.
Lemma 2.1. For $P_{n} \in \Pi_{n}$ satisfying $\left\|P_{n}-f\right\|_{p} \leq C E_{n}(f)_{p}$, we have

$$
\begin{equation*}
\left\|f-P_{n}\right\|_{p}+n^{-2 r}\left\|P_{r}(D) P_{n}\right\|_{p}+n^{-2 r-1}\left\|\varphi^{2 r+1} P_{n}^{(2 r+1)}\right\|_{p} \asymp K\left(f, r, n^{-1}\right)_{p} . \tag{2.1}
\end{equation*}
$$

Proof. Clearly, we need only to verify the following three inequalities:

$$
\left\|f-P_{n}\right\|_{p} \leq M K\left(f, r, n^{-1}\right)_{p}, \quad\left\|\varphi^{2 r+1} P_{n}^{(2 r+1)}\right\|_{p} \leq M n^{2 r+1} K\left(f, r, n^{-1}\right)_{p}
$$

and

$$
\begin{equation*}
\left\|P_{r}(D) P_{n}\right\|_{p} \leq M n^{2 r} K\left(f, r, n^{-1}\right)_{p} \tag{2.2}
\end{equation*}
$$

The first two are evident as

$$
\omega_{\varphi}^{2 r+1}(f, t)_{p} \leq C K(f, r, t)_{p}, \quad E_{n}(f)_{p} \leq C \omega_{\varphi}^{2 r+1}\left(f, n^{-1}\right)_{p}
$$

and

$$
\left\|\varphi^{2 r+1} P_{n}^{(2 r+1)}\right\|_{p} \leq C n^{2 r+1} \omega_{\varphi}^{2 r+1}\left(f, n^{-1}\right)_{p},
$$

which can be deduced immediately from the definition of $K(f, r, t)_{p},(7.2 .2)$ and (7.3.1) in [2]. To prove (2.2) we choose $g^{(2 r)} \in A . C \cdot{ }^{\text {loc }}$, such that

$$
\begin{equation*}
\|f-g\|_{p}+n^{-2 r}\left\|P_{r}(D) g\right\|_{p}+n^{-2 r-1}\left\|\varphi^{2 r+1} g^{(2 r+1)}\right\|_{p} \leq 2 K\left(f, r, n^{-1}\right)_{p} . \tag{2.3}
\end{equation*}
$$

We may assume $n=2^{m}, P_{2^{j}} \in \Pi_{2^{j}}, j=m+1, \ldots$, and

$$
\left\|P_{2^{j}}-g\right\|_{p}=E_{2^{j}}(g)_{p}, \quad j=m+1, \ldots
$$

Thus we have

$$
g-P_{2^{m}}=\sum_{j=m}^{\infty}\left(P_{2^{j+1}}-P_{2^{j}}\right)
$$

From Theorem 7.2.1 in [2] and (2.3), we conclude

$$
\begin{aligned}
\left\|P_{2^{j+1}}-P_{2 j}\right\|_{p} & \leq C\left(2^{-j}\right)^{2 r+1}\left\|\varphi^{2 r+1} g^{(2 r+1)}\right\|_{p} \\
& \leq C\left(2^{-j}\right)^{2 r+1}\left(2^{m}\right)^{2 r+1} K\left(f, r, 2^{-m}\right)_{p}, \quad j=m+1, \ldots
\end{aligned}
$$

Obviously, this estimate holds also for $j=m$. Hence, by using the Bernstein inequality (see e.g. [2]), we obtain finally

$$
\begin{aligned}
\left\|P_{r}(D)\left(g-P_{2^{m}}\right)\right\|_{p} & \leq C \sum_{j=m}^{\infty} 2^{2 r j} 2^{-2 r j-j} 2^{2 r m+m} K\left(f, r, 2^{-m}\right)_{p} \\
& \leq C 2^{2 r m} K\left(f, r, 2^{-m}\right)_{p}
\end{aligned}
$$

which obviously implies (2.2).

Denote $E_{n}=[a / n, 1-a / n]$ for fixed $a>0$. For the moments of the operator $K_{n, r}$, we have shown in [5]:

Lemma 2.2. Let $x \in E_{n}, C(n)=\sum_{i=0}^{r-1} c_{i}(n) n_{i}^{-r}$ and $a_{j, k}$ given by (1.2). Then for some $\epsilon_{k} \in$ Lip 1 satisfying $\epsilon_{k}(0)=\epsilon_{k}(1)=0, \epsilon_{2 r-1}(x) \equiv 0$ and $\epsilon_{2 r}(x) \equiv 0$, we have

$$
K_{n, r}\left((\cdot-x)^{r}, x\right)=C(n)(1-2 x)^{\delta_{r}} \frac{1}{r+1} a_{1, r+1},
$$

and for $r+1 \leq k \leq 2 r$

$$
\begin{aligned}
& K_{n, r}\left((\cdot-x)^{k}, x\right)=C(n)(x(1-x))^{k-r}(1-2 x)^{\delta_{k}} \\
& \quad \times\left(a_{k-r, k}+\frac{k-r+1}{k+1} \delta_{k-r, k} a_{k-r+1, k+1}+\epsilon_{k}(x)\right)+\mathcal{O}\left(\frac{\varphi^{2(k-r-1)}(x)}{n^{r+1}}\right),
\end{aligned}
$$

where $\delta_{k-r, k}=1$ for $r+1 \leq k \leq 2 r-1$ and $\delta_{r, 2 r}=0$.
Moreover, following the notations of Lemma 2.2, we have (see [5]).
Lemma 2.3. Let $P \in \prod_{m}$ with $m \leq \sqrt{n}$, then the following inequality is true for $1 \leq p \leq \infty$ :

$$
\begin{align*}
& \| K_{n, r}(P, x)-P(x)-C(n) \frac{a_{1, r+1}}{(r+1)!}(1-2 x)^{\delta_{r}} P^{(r)}(x) \\
& \quad-C(n) \sum_{i=1}^{r} \frac{(x(1-x))^{i}}{(r+i)!}(1-2 x)^{\delta_{r+i}} \\
& \quad \times\left(a_{i, r+i}+\frac{i+1}{r+i+1} \delta_{i, r+i} a_{i+1, r+i+1}+\epsilon_{r+i}(x)\right) P^{(r+i)}(x) \|_{p} \\
& \leq C_{1} n^{-r-1 / 2}\left(\left\|\varphi^{2 r+1} P^{(2 r+1)}(x)\right\|_{p}+\|P\|_{p}\right) \tag{2.4}
\end{align*}
$$

where $C_{1}$ is a positive constant independent of $P$ and $n$.
Let $q$ be a given algebraic polynomial, and $\bar{q}=\{\operatorname{Re} x: q(x)=0\}$. We need also some results concerning the following differential operator. Let

$$
P(D)=\sum_{i=0}^{l} \alpha_{i}(x)(x(1-x))^{i} D^{l+i}
$$

where $\alpha_{i} \in \operatorname{Lip} \delta, i=0,1, \ldots, l$, for some $0<\delta \leq 1$ and $\alpha_{l}(x) \neq 0$ for $x \in[0,1]$. Let further

$$
\sigma_{0}(x)=\alpha_{0}(0)+\sum_{i=1}^{l} \alpha_{i}(0) x(x-1) \cdots(x-i+1)
$$

and

$$
\sigma_{1}(x)=\alpha_{0}(1)+\sum_{i=1}^{l}(-1)^{i} \alpha_{i}(1) x(x-1) \cdots(x-i+1) .
$$

We have (see [4] or [8]).

Lemma 2.4. Let $1 \leq p \leq \infty$ and $\alpha \geq 0$. Then there is a constant $A>0$ such that for $P \in \Pi_{n}$ and $n=1,2, \ldots$, there hold

$$
\left\|\varphi^{2 l+2 \alpha+1} P^{(2 l+1)}\right\|_{p} \leq A n\left(\left\|\varphi^{2 \alpha} P(D) P\right\|_{p}+\left\|\varphi^{2 \alpha} P\right\|_{p}\right),
$$

and if $-1 / p-\alpha \notin \bar{\sigma}_{0} \cup \bar{\sigma}_{1}$,

$$
\begin{equation*}
\left\|\varphi^{2 l+2 \alpha} P^{(2 l)}\right\|_{p} \leq A\left(\left\|\varphi^{2 \alpha} P(D) P\right\|_{p}+\left\|\varphi^{2 \alpha} P\right\|_{p}\right) \tag{2.5}
\end{equation*}
$$

## 3. Proofs of Theorems 1.3 and 1.4

With the help of the lemmas shown in Section 2, we are now ready to prove our results.
Proof of Theorem 1.3. Let $P_{m} \in \Pi_{m}$ with $m=[\sqrt{n}]$ satisfy

$$
\left\|P_{m}-f\right\|_{p}=E_{m}(f)_{p}
$$

By (7.2.2) and (7.3.1) in [2] we have

$$
\begin{equation*}
\left\|P_{m}-f\right\|_{p} \leq C \omega_{\varphi}^{2 r+1}\left(f, n^{-1 / 2}\right)_{p} \tag{3.1}
\end{equation*}
$$

and

$$
\begin{equation*}
\left\|\varphi^{2 r+1} P_{m}^{(2 r+1)}\right\|_{p} \leq C m^{2 r+1} \omega_{\varphi}^{2 r+1}\left(f, n^{-1 / 2}\right)_{p} \tag{3.2}
\end{equation*}
$$

Recalling the definition of $K(f, r, t)_{p}$ we have

$$
\begin{equation*}
\omega_{\varphi}^{2 r+1}\left(f, n^{-1 / 2}\right)_{p} \leq C K\left(f, r, n^{-1 / 2}\right)_{p} \tag{3.3}
\end{equation*}
$$

Thus, from (3.1) and (3.3) we conclude

$$
\begin{align*}
\left\|K_{n, r}(f)-f\right\|_{p} & \leq 2\left\|f-P_{m}\right\|_{p}+\left\|K_{n, r}\left(P_{m}\right)-P_{m}\right\|_{p} \\
& \leq C K\left(f, r, n^{-1 / 2}\right)_{p}+\left\|K_{n, r}\left(P_{m}\right)-P_{m}\right\|_{p} . \tag{3.4}
\end{align*}
$$

Using (2.4), (3.2) and (3.3), we obtain, for $x \in[0,1]$,

$$
\begin{align*}
& \left\|K_{n, r}\left(P_{m}, x\right)-P_{m}(x)\right\|_{p} \\
& \quad \leq|C(n)| \| \frac{a_{1, r+1}}{(r+1)!}(1-2 x)^{\delta_{r}} P^{(r)}(x)+\sum_{i=1}^{r} \frac{\varphi^{2 i}(x)}{(r+i)!}(1-2 x)^{\delta_{r+i}} \\
& \quad \times\left(a_{i, r+i}+\frac{i+1}{r+i+1} \delta_{i, r+i} a_{i+1, r+i+1}+\epsilon_{r+i}(x)\right) P_{m}^{(r+i)}(x) \|_{p} \\
& \quad+C\left(K\left(f, r, n^{-1 / 2}\right)_{p}+n^{-r-1 / 2}\left\|P_{m}\right\|_{p}\right) . \tag{3.5}
\end{align*}
$$

We know that $\epsilon_{2 r-1}(x) \equiv \epsilon_{2 r}(x) \equiv 0$, and $\epsilon_{r+i} \in \operatorname{Lip1}$ with $\epsilon_{r+i}(0)=\epsilon_{r+i}(1)=0$ for $i=1,2, \ldots, r-2$. Thus, there is $C>0$ such that $\left|\epsilon_{r+i}(x)\right| \leq C \varphi^{2}(x)$ for $x \in[0,1]$ and $i=1,2, \ldots, r-2$. In what follows we should prove

$$
\begin{equation*}
\left\|\varphi^{2 i+2} P_{m}^{(r+i)}\right\|_{p} \leq C\left(\left\|P_{r}(D) P_{m}\right\|_{p}+\left\|P_{m}\right\|_{p}\right) \quad \text { for } i=1,2, \ldots, r-2 \tag{3.6}
\end{equation*}
$$

Indeed, we may assume $m=2^{k}$. The set $\bar{\sigma}_{0} \cup \bar{\sigma}_{1}$ for $P_{r}(D)$ has only finite elements. We have $0<\alpha<1 / 2$ satisfying $-1 / p-\alpha \notin \bar{\sigma}_{0} \cup \bar{\sigma}_{1}$. Let $P_{2^{j}} \in \Pi_{2^{j}}, j=0,1, \ldots, k-1$, be the best approximation of $P_{m}$ with the weight $\varphi^{2 \alpha}$. Then, we have from Theorem 8.2.1 in [2]

$$
\left\|\varphi^{2 \alpha}\left(P_{m}-P_{2 j}\right)\right\|_{p} \leq C 2^{-2 j r}\left(\left\|\varphi^{2 \alpha+2 r} P_{m}^{(2 r)}\right\|_{p}+\left\|P_{m}\right\|_{p}\right), \quad j=0,1, \ldots, k-1 .
$$

Consequently, we conclude from (8.1.4) and (8.1.3) in [2]

$$
\begin{aligned}
\left\|\varphi^{2 i+2} P_{m}^{(r+i)}\right\|_{p} & \leq \sum_{j=0}^{k-1}\left\|\varphi^{2 i+2}\left(P_{2^{j+1}}-P_{2^{j}}\right)^{(r+i)}\right\|_{p} \\
& \leq C \sum_{j=0}^{k-1} 2^{(2 r-1) j}\left\|\varphi\left(P_{2^{j+1}}-P_{2^{j}}\right)\right\|_{p} \\
& \leq C \sum_{j=0}^{k} 2^{-j}\left(\left\|\varphi^{2 \alpha+2 r} P_{m}^{(2 r)}\right\|_{p}+\left\|P_{m}\right\|_{p}\right) \\
& \leq C\left(\left\|\varphi^{2 \alpha+2 r} P_{m}^{(2 r)}\right\|_{p}+\left\|P_{m}\right\|_{p}\right)
\end{aligned}
$$

On the other hand, as $-1 / p-\alpha \notin \bar{\sigma}_{0} \cup \bar{\sigma}_{1}$ we obtain by (2.5) with $l=r$

$$
\left\|\varphi^{2 \alpha+2 r} P_{m}^{(2 r)}\right\|_{p}+\left\|P_{m}\right\|_{p} \leq A\left(\left\|P_{r}(D) P_{m}\right\|_{p}+\left\|P_{m}\right\|_{p}\right)
$$

Thus, (3.6) follows from the last two displays. From (3.6), we have

$$
\begin{aligned}
& \| \frac{a_{1, r+1}}{(r+1)!}(1-2 x)^{\delta_{r}} P^{(r)}(x)+\sum_{i=1}^{r} \frac{\varphi^{2 i}(x)}{(r+i)!}(1-2 x)^{\delta_{r+i}} \\
& \quad \times\left(a_{i, r+i}+\frac{i+1}{r+i+1} \delta_{i, r+i} a_{i+1, r+i+1}+\epsilon_{r+i}(x)\right) P_{m}^{(r+i)}(x) \|_{p} \\
& \quad \leq C\left(\left\|P_{r}(D) P_{m}\right\|_{p}+\left\|P_{m}\right\|_{p}\right) .
\end{aligned}
$$

Therefore, as $C(n) \asymp n^{-r}$, we conclude from (3.5) and (2.1)

$$
\begin{aligned}
\left\|K_{n, r}\left(P_{m}\right)-P_{m}\right\|_{p} & \leq C n^{-r}\left(\left\|P_{r}(D) P_{m}\right\|_{p}+\left\|P_{m}\right\|_{p}\right)+C K\left(f, r, n^{-1 / 2}\right)_{p} \\
& \leq C\left(K\left(f, r, n^{-1 / 2}\right)_{p}+n^{-r}\|f\|_{p}\right)
\end{aligned}
$$

Combining this with (3.4) we obtain finally

$$
\left\|K_{n, r}(f)-f\right\|_{p} \leq C\left(K\left(f, r, n^{-1 / 2}\right)_{p}+n^{-r}\|f\|_{p}\right) .
$$

This inequality implies (1.3), since for any $P \in \Pi_{r}$

$$
\begin{aligned}
& \left\|K_{n, r}(f-P)-(f-P)\right\|_{p}=\left\|K_{n, r}(f)-f\right\|_{p} \quad \text { and } \\
& K\left(f-P, r, n^{-1 / 2}\right)_{p}=K\left(f, r, n^{-1 / 2}\right)_{p} .
\end{aligned}
$$

To show (1.4) we define the following differential operators

$$
\begin{aligned}
\tilde{P}_{r}(D)= & \frac{a_{1, r+1}}{(r+1)!}(1-2 x)^{\delta_{r}} D^{r}+\sum_{i=1}^{r} \frac{\varphi^{2 i}(x)}{(r+i)!}(1-2 x)^{\delta_{r+i}}\left(a_{i, r+i}\right. \\
& \left.+\frac{i+1}{r+i+1} \delta_{i, r+i} a_{i+1, r+i+1}+\epsilon_{r+i}(x)\right) D^{r+i},
\end{aligned}
$$

then the set $\bar{\sigma}_{0} \cup \bar{\sigma}_{1}$ for $\tilde{P}_{r}(D)$ is the same as for $P_{r}(D)$. Consequently, (3.6) holds also for $\tilde{P}_{r}(D)$ instead of $P_{r}(D)$. Thus,

$$
\left\|\sum_{i=1}^{r} \frac{\varphi^{2 i}(x)}{(r+i)!}(1-2 x)^{\delta_{r+i}} \epsilon_{r+i}(x) P_{m}^{(r+i)}\right\|_{p} \leq\left(\left\|\tilde{P}_{r}(D) P_{m}\right\|_{p}+\left\|P_{m}\right\|_{p}\right) .
$$

Therefore,

$$
\begin{equation*}
\left\|P_{r}(D) P_{m}\right\|_{p} \leq C\left(\left\|\tilde{P}_{r}(D) P_{m}\right\|_{p}+\left\|P_{m}\right\|_{p}\right) . \tag{3.7}
\end{equation*}
$$

On the other hand, we have

$$
K\left(f, r, n^{-1 / 2}\right)_{p} \leq C\left(\left\|f-P_{m}\right\|_{p}+n^{-r}\left\|P_{r}(D) P_{m}\right\|_{p}+n^{-r-1 / 2}\left\|\varphi^{2 r+1} P_{m}^{(2 r+1)}\right\|_{p}\right) .
$$

We know from (3.1) and (3.2)

$$
\left\|f-P_{m}\right\|_{p}+n^{-r-1 / 2}\left\|\varphi^{2 r+1} P_{m}^{(2 r+1)}\right\|_{p} \leq C \omega_{\varphi}^{2 r+1}\left(f, n^{-1 / 2}\right)_{p},
$$

and from (3.7), (2.4), (3.1) and (3.2)

$$
n^{-r}\left\|P_{r}(D) P_{m}\right\|_{p} \leq C\left(\left\|K_{n, r}\left(P_{m}\right)-P_{m}\right\|_{p}+\omega_{\varphi}^{2 r+1}\left(f, n^{-1 / 2}\right)_{p}+n^{-r}\|f\|_{p}\right) .
$$

Hence, there holds

$$
K\left(f, r, n^{-1 / 2}\right)_{p} \leq C\left(\left\|K_{n, r}\left(P_{m}\right)-P_{m}\right\|_{p}+\omega_{\varphi}^{2 r+1}\left(f, n^{-1 / 2}\right)_{p}+n^{-r}\|f\|_{p}\right) .
$$

Following from (3.1)

$$
\left\|K_{n, r}\left(P_{m}\right)-P_{m}\right\|_{p} \leq\left(\left\|K_{n, r}(f)-f\right\|_{p}+\omega_{\varphi}^{2 r+1}\left(f, n^{-1 / 2}\right)_{p}\right)
$$

and from Theorem 9.3.6 of [2]

$$
\omega_{\varphi}^{2 r+1}\left(f, n^{-1 / 2}\right)_{p} \leq C n^{-r-1 / 2}\left(\sum_{k=1}^{n} k^{r-1 / 2}\left\|K_{k, r}(f)-f\right\|_{p}+\|f\|_{p}\right)
$$

we have

$$
\begin{aligned}
K\left(f, r, n^{-1 / 2}\right)_{p} \leq & C\left(\left\|K_{n, r}(f)-f\right\|_{p}+n^{-r-1 / 2}\right. \\
& \left.\times \sum_{k=1}^{n} k^{r-1 / 2}\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r}\|f\|_{p}\right) .
\end{aligned}
$$

By multiplying $n^{r-1 / 2}$ in the above inequality and summing from $N$ to $2 N$, we obtain by the monotonicity of $K\left(f, r, n^{-1 / 2}\right)_{p}$

$$
N^{r+1 / 2} K\left(f, r,(2 N)^{-1 / 2}\right)_{p} \leq C\left(\sum_{k=1}^{2 N} k^{r-1 / 2}\left\|K_{k, r}(f)-f\right\|_{p}+N^{1 / 2}\|f\|_{p}\right),
$$

which obviously implies (1.4).
Next we should apply Theorem 1.3 and Lemma 2.4 to verifying Theorem 1.4.

Proof of Theorem 1.4. For $P_{m} \in \Pi_{m}$ with $m=[\sqrt{n}]$ satisfying $\left\|f-P_{m}\right\|_{p}=E_{m}(f)_{p}$, we have

$$
\omega_{\varphi}^{2 r}\left(f, m^{-1}\right)_{p} \leq C\left(\left\|f-P_{m}\right\|_{p}+m^{-2 r}\left\|\varphi^{2 r} P_{m}^{(2 r)}\right\|_{p}\right)
$$

By (2.5) with $\alpha=0$, and (2.1), we conclude

$$
\begin{aligned}
\omega_{\varphi}^{2 r}\left(f, m^{-1}\right)_{p} & \leq C\left(\left\|f-P_{m}\right\|_{p}+m^{-2 r}\left\|P_{r}(D) P_{m}\right\|_{p}+m^{-2 r}\|f\|_{p}\right) \\
& \leq C\left(K\left(f, r, m^{-1}\right)_{p}+m^{-2 r}\|f\|_{p}\right),
\end{aligned}
$$

which obviously implies

$$
\omega_{\varphi}^{2 r}\left(f, m^{-1}\right)_{p}+m^{-2 r} E_{r}(f)_{p} \leq C\left(K\left(f, r, m^{-1}\right)_{p}+m^{-2 r} E_{r}(f)\right)_{p}
$$

Therefore, it follows from (1.4) that

$$
\omega_{\varphi}^{2 r}\left(f, n^{-1 / 2}\right)_{p}+n^{-r} E_{r}(f)_{p} \leq C n^{-r-1 / 2} \sum_{k=1}^{n} k^{r-1 / 2}\left(\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) .
$$

Consequently, for $\tau=0,1 / 4$, we obtain from the last display

$$
\omega_{\varphi}^{2 r}\left(f, n^{-1 / 2}\right)_{p}+n^{-r} E_{r}(f)_{p} \leq C n^{-r-\tau} \max _{1 \leq k \leq n} k^{r+\tau}\left(\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) .
$$

On the other hand, let $J(f, t)_{p}=\omega_{\varphi}^{2 r}(f, t)_{p}+t^{2 r} E_{r}(f)_{p}$, then $J(f, \lambda t) \leq C \lambda^{2 r} J(f, t)$ for $\lambda \geq 1$. We conclude from (1.1)

$$
n^{-r-\tau} \max _{1 \leq k \leq n} k^{r+\tau}\left(\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) \leq C J\left(f, n^{-1 / 2}\right)_{p} .
$$

Combining the last two displays, we obtain finally for $\tau=0$ and $1 / 4$

$$
\begin{equation*}
n^{-r-\tau} \max _{1 \leq k \leq n} k^{r+\tau}\left(\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) \asymp J\left(f, n^{-1 / 2}\right)_{p} . \tag{3.8}
\end{equation*}
$$

Hence, there holds

$$
\begin{aligned}
& n^{-r} \max _{1 \leq k \leq n} k^{r}\left(\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) \\
& \quad \asymp n^{-r-1 / 4} \max _{1 \leq k \leq n} k^{r+1 / 4}\left(\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) .
\end{aligned}
$$

Assuming $1 \leq k_{0} \leq n$ satisfies

$$
\begin{aligned}
& \max _{1 \leq k \leq n} k^{r+1 / 4}\left(\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) \\
& \quad=k_{0}^{r+1 / 4}\left(\left\|K_{k_{0}, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right),
\end{aligned}
$$

we have for some $C_{0}>0$

$$
\begin{aligned}
& n^{-r} k_{0}^{r}\left(\left\|K_{k_{0}, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) \\
& \quad \leq n^{-r} \max _{1 \leq k \leq n} k^{r}\left(\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) \\
& \quad \leq C n^{-r-1 / 4} k_{0}^{r+1 / 4}\left(\left\|K_{k_{0}, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right)
\end{aligned}
$$

which gives $k_{0} \geq n C_{0}^{-4}$. Therefore we have from (3.8)

$$
\begin{aligned}
J\left(f, n^{-1 / 2}\right)_{p} & \leq C n^{-r-1 / 4} \max _{1 \leq k \leq n} k^{r+1 / 4}\left(\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) \\
& \leq C n^{-r-1 / 4} k_{0}^{r+1 / 4}\left(\left\|K_{k_{0}, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) \\
& \leq C\left(\max _{k \geq n C_{0}^{-4}}\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) .
\end{aligned}
$$

The property of $J\left(f, n^{-1 / 2}\right)$ implies

$$
J\left(f,\left(n C_{0}^{-4}\right)^{-1 / 2}\right)_{p} \leq C\left(\max _{k \geq n C_{0}^{-4}}\left\|K_{k, r}(f)-f\right\|_{p}+n^{-r} E_{r}(f)_{p}\right) .
$$

The desired assertion follows from this estimate and (1.1).

## References

[1] P.L. Butzer, Linear combinations of Bernstein polynomials, Canad. J. Math. 5 (1953) 559-567.
[2] Z. Ditzian, V. Totik, Moduli of Smoothness, Springer-Verlag, New York, 1987.
[3] S.S. Guo, L.X. Liu, Q.L. Qi, Pointwise estimate for linear combinatons of Bernstein-Kantorovich operators, J. Math. Anal. Appl. 265 (2002) 135-147.
[4] K. Kamber, X.L. Zhou, On the regularity of some differential operators, Internat. Ser. Numer. Math. 132 (1999) 79-86.
[5] C.B. Lu, L.S. Xie, The $L_{p}$-saturation for linear combination of Bernstein-Kantorovich operators, Acta. Math. Hungar. 120 (2008) 367-381.
[6] V. Maier, The $L_{1}$ saturation class of Kantorovich operator, J. Approx. Theory 22 (1978) 223-232.
[7] S.D. Riemenschneider, The $L^{p}$-saturation of the Bernstein-Kantorovich polynomials, J. Approx. Theory 23 (1978) 158-162.
[8] J. Wenz, X.L. Zhou, Bernstein type inequalities associated with some differential operators, J. Math. Anal. Appl. 213 (1997) 250-261.
[9] D.X. Zhou, On smoothness characterized by Bernstein-type operators, J. Approx. Theory 81 (1995) 303-315.


[^0]:    ${ }^{\hat{4}}$ This research is supported by Science and Technology Planning Project of Zhejiang Province of China (2008C21084).

    E-mail address: linsenxie@tom.com.

